TR 24 FENTHERE

H24.7.19 K%

EX54A = aF =

R K ih K B T = H K

£ K B %l 13:30 14:00 13:55
BEBER mS/m 8 9 88
p H 7.4 7.5 7.6
BOD mg/| <3 <3 4
CcOoD mg/| 1 3 26
Cd mg/| < 0.001 < 0.001 < 0.001
TV mg/| n.d. n.d. n.d.
Pb mg/| < 0.005 < 0.005 < 0.005
Cr (7}{if) mg/| < 0.02 < 0.02 < 0.02
As mg/| 0.007 < 0.005 < 0.005
Hg (#2) mg/| < 0.0005 < 0.0005 < 0.0005
Alkyl-Hg mg/| n.d. n.d. n.d.
PCB mg/| n.d. n.d. n.d.
F)4RAIFLY mg/| < 0.002 < 0.002 < 0.002
Fh3H00IFLY mg/| < 0.0005 < 0.0005 < 0.0005
Yhooray mg/| < 0.02 < 0.02 < 0.02
M\ 18 1k ik R mg/| < 0.002 < 0.002 < 0.002
1,2-"hAA14Y mg/| < 0.004 < 0.004 < 0.004
1,1-Y"hoRIFLy mg/| < 0.02 < 0.02 < 0.02
YA-1,2-"90AIFLY| mg/l < 0.04 < 0.04 < 0.04
1,1,1-b)40nz4y mg/| < 0.001 < 0.001 < 0.001
1,1,2-b)40nI4y mg/| < 0.006 < 0.006 < 0.006
1,3-Y"40[7°aA°"y mg/| < 0.002 < 0.002 < 0.002
Foo5L mg/| < 0.006 < 0.006 < 0.006
ROy mg/| < 0.003 < 0.003 < 0.003
FARUAIILT mg/| < 0.02 < 0.02 < 0.02
oty mg/| < 0.01 < 0.01 < 0.01
Se mg/| < 0.002 < 0.002 < 0.002
BRAF mg/| 22 22 150




H25.2.20 #R/K %

EX54A = =2 =

R K ih P A = H K

£ K B %l 11:20 XAl XA
BEXR mS/m 8 - -
p H 6.8 - -
BOD mg/| <3 - -
COD mg/| 4 - -
Cd mg/| < 0.001 - -
T mg/| n.d. - -
Pb mg/| <0.005 - -
Cr (7}{if) mg/| < 0.02 - -
As mg/| < 0.005 - -
Hg (#2) mg/| < 0.0005 - -
Alkyl-Hg mg/| n.d. - -
PCB mg/| n.d. - -
F)4RAIFLY mg/| < 0.002 - -
Th34900IFLY mg/| < 0.0005 - -
Yhooray mg/| < 0.02 - -
mig 1t ik & mg/| < 0.002 - -
1,2-¥°9nA14y mg/| < 0.004 - -
1,1-¥"9pnIfLy mg/| < 0.02 - -
YA-1,2-"90AIFLY| mg/l < 0.04 - -
1,1,1-F)9AAI4Y mg/| < 0.001 - -
1,1,2-k)9AAI4Y mg/| < 0.006 - -
1,3-Y"9AA7°AA"Y mg/| < 0.002 - -
Foo5L mg/| < 0.006 - -
ORIV mg/| < 0.003 - -
FARUALT mg/| < 0.02 - -
Ro€vy mg/| < 0.01 - -
Se mg/| < 0.002 - -
BEA4 mg/| 25 - -




